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Intersection of Lines 
 

 

Determine the point of intersection of each of the following pairs of lines 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Graph each of the following lines and determine the point where they intersect (cross). 

a) y = x – 3  and  y = 
3

2
 x + 2 
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b)

Intersection of Lines

1. The following graph shows Shelley and Mark's babysitting earnings:

a) Whose earnings are an exarnple of partial
variation? Explain.
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Determine the equation for Shelley's
earninss.
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Determine the equation for Mark's
eamngs.
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d) Detemrine the point of intersection of the two graphs. What does this point represent?
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e) Describe under what conditions you should hire each person.
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2. Alex rakes leaves to earn some extra cash.

a) Describe how Alex gets paid.
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c)b) Alex's Mom thinks that he should just
charge a flat rate of$25 to rake leaves, no
matter how many bags he rakes. Add this to
your graph.
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Alex's Dad thinks that he should just charge
$5 per bag with no starting fee. Add this to
your graph.
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Who do you think has the best plan? Justiff yolr answer 
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Intersection of Lines

Determine the point of intersection of each of the following pairs of lines
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Graph each of the following lines and determine the point where they intersect (cross).
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